/ WeBWorK assignment number Sec8.2 is due : 11/12/2010 at 10:30pm EST.

When adding the terms of an infinite sequence {a, }o_y » we get an infinite series E apn=a +aytaz+....
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The nth partial sum s, = Ea,- =ar+ay+.... + a, ( the sum of the first n terms)
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E ay=s= lims,
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If this limit exists as a real number, then the series is called convergent . Otherwise, it is divergent .
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The Geometric Series with common ratio r Ear"‘l =a+ar+ar’+ .. is convergent if |r| < 1 and its sum
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¢ geometric series is divergent if || > 1.
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The Harmonic series E - =14 =4 = +... is divergent .
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)The Telescoping series Z (by — bpy1) is convergent if lim by=_Landitssums=b; — L.
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Theorem: If the series Z a, is convergent, then lim a, = 0.
n=1 n—yoo
The converse of this theorem is not true.

The Test For Divergence: If li_)m ax # 0 or does not exist, then the series Z a, is divergent.
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Note : if lim a, # 0, then Fa, is divergent. But if lim a, = 0, we know nothing about the convergence or divergence
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of the series.
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Extra Problem 2
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Let 5, = Z % be the n-th partial sum; that is the sum of SJ - W(g /‘gg‘gmﬁ
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the first n terms of the series.

Find s3 and ss.
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Book Problem 3

Determine whether the following series is convergent or di-

vergent. If convergent find the sum, and if divergent enter DIV: g ( 2
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Book Problem 5§

The following series are geometric series. Determine
e T—,
whether each series converges or not. '

For the convergent series, enter the sum of the series. For the
divergent series, enter DIV .

Also for each series, enter the first term ¢ and the common ratio
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Book Problem 7

The following series are geometric series.  Determine
whether each series converges or not.
For the convergent series, enter the sum of the series. For the
divergent series, enter DIV . '
Also for each series, enter the first term a and the common ratio
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Decide whether the given sequence or series is convergent or | @1,%/ ¢ . & - —
divergent. If convergent, enter the limit (for a sequence) or the e €y 4 St~ T:/kL b =, }

sum (for a series). If divergent, enter DIV ,
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(a) The sequence { — } A 2 | O
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Book Problem 10
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Decide whether the given sequence or series is convergent or
divergent. If convergent, enter the limit (for a sequence) or the

sum (for :;1 series). If divergent, enter DIV .
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Book Problem 11
g
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Decide whether the given sequence or series is convergent or
divergent. If convergent, enter the limit (for a sequence) or the

sum (for a series). If divergent, enter DIV
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Book Problem 13
Determine the sum of the follom // / = ) (:f? :
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Book Problem 17

Decide whether the given sequence or series is convergent or
divergent. If convergent, enter the limit (for a sequence) or the
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b) Determine whether the following telescoping series is con- S - T - ¥ /1'.
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Note that the following series is telescoping. If it is conver- L(f h=0 = 1 . =/ L
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Book Problem 22

Determine whether the following telescoping series are con-

1 CIf , h . If not,
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Express 4.90909... as .a'rati‘onal numb_er, in the form ’é | — ool X%
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Book Problem 27

a) Find the values of x for which the series E i converges. = Z ( Q{) cHv ”ﬂa”‘J' ﬂ - L tf
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Book Problem 25

Express 3.684684684... as a rational number, in the form g It 08/

‘where p and ¢ have no common factors. s - g e 6 ¥ ¢

he T2 eX<(
(b) Find the sum of the series for those values of x . 5 - al .z . A
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Book Problem 31
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If the nth partial sum of a series E ay, is s = ——, then
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